Test: 2017 Primary 2 - Term 2 (SA1) Math (MGS)
Points: 40 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 29 Primary 2 Math (Term 1)

Section A (10 x 1m)

Choose the correct answer for each question.

There are 8 bicycles. Each bicycle has 2 wheels.
How many wheels are there altogether?

A) 16

B) 10

C) 6

D) 4
Question 2 of 29 Primary 2 Math (Term 1)
28 + =4

What is missing number in the blank space?

A) 112
B) 32
C) 24
D) 7

1 pt

1 pt



Question 3 of 29 Primary 2 Math (Term 1)

The length of a broomstick is about
A) 1cm
B) 1m

C) 10cm
D) 10m

Question 4 of 29 Primary 2 Math (Term 1)

Which is not the same as 7 x 57

A) 7 fives

B) 7+7+7+7+7+7+7
C) 7 groups of 5

D) 5+5+5+5+5+5+5

Question 5 of 29 Primary 2 Math (Term 1)

Which ribbon is longer than Ribbon C but shorted than Ribbon D?

RibbonA 5 7
RibbonB =

Ribbon € ) I
RibbonD 7> =

A) Ribbon A
B) Ribbon B
C) RibbonC
D) RibbonD

1 pt

1 pt

1 pt



Question 6 of 29 Primary 2 Math (Term 1) 1 pt

There are 30 sweets.
Sarah packs them into bags of 5.
How many bags of sweets does she have?

A) 6

B) 25
C) 35
D) 150

Question 7 of 29 Primary 2 Math (Term 1) 1 pt

The length of an eraser is 6 cm.
The length of the duster is 2 times the length of the eraser.
What is the length of the duster?

A) 8cm
B) 12cm
C) 3cm
D) 4cm

Question 8 of 29 Primary 2 Math (Term 1) 1 pt

Look at the picture below.
What is the length of the crayon?
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A) 5cm

B) 10cm
C) 15cm
D) 20cm



Question 9 of 29

Look at the pattern below. Find the missing number.

A) 5

B)
C)
D)

6
36
54

Question 10 of 29

Look at the picture below.

Tree B is m taller than Tree A.

A)
B)
C)
D)

Primary 2 Math (Term 1) 1 pt

Primary 2 Math (Term 1) 1 pt

Tree A

12 m
2m
16m

4m




Question 11 of 29 Primary 2 Math (Term 1) 1 pt

Section B (6 x 1m)

Read the questions carefully.

Choose the correct equation that makes 7.

27 +3

A) 24+4
B) 35+5
C) 27+3

Question 12 of 29 Primary 2 Math (Term 1) 1 pt

How many twos can you make out from the picture below? Choose the correct answer.
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Question 13 of 29 Primary 2 Math (Term 1) 1 pt

For questions 13 to 16, type in the answers.

Sally jogged 2 times around the field.
Each round was 400 m.
How far did she run?

Question 14 of 29 Primary 2 Math (Term 1) 1 pt

The sum of two numbers is 628.
One of the numbers is 430.
What is the other number?

Question 15 of 29 Primary 2 Math (Term 1) 1 pt

GoaX 3 stands for 6 cupcakes,

FH‘ cupcakes.
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Question 16 of 29 Primary 2 Math (Term 1) 1 pt

The length of a piece of string is 36 cm.
Benjamin cuts the string into 4 equal parts.
How long is each part?

Question 17 of 29 Primary 2 Math (Term 1) 2 pts

Section C (6 x 2m)

Read the questions carefully. Type in the answers.

What does # stand for?

32 + 4 *
* x 10= #

Question 18 of 29 Primary 2 Math (Term 1) 2 pts

Gopal arranged some pencils in a row as shown below.
The row of pencils is 21 cm long.

Each pencil is 3 cm long.

How many pencils does Gopal have?
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Question 19 of 29 Primary 2 Math (Term 1) 2 pts

Ron used 4 toothpicks to form a square.
After forming 2 squares, he had 5 toothpicks left.
How many toothpicks did he have in all?
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Question 20 of 29 Primary 2 Math (Term 1) 2 pts

What is the total length of the two items below?

N

Dem1? 2 3 4 5 6 7 8 9 10 11 12 18 ¥ 15



Question 21 of 29 Primary 2 Math (Term 1) 2 pts

Alan bought 4 durians for $20.
Billy bought 6 durians.
How much did Billy pay for his durians?

Question 22 of 29 Primary 2 Math (Term 1) 2 pts

Section D
Do these word problems.

Mrs Tan bought a handbag for $380.
She had $245 left.

A) How much did she have at first?

A) 380 + 245 = $625
B) 380-245=$135
C) 380 + 380 = $760
D) 245 + 245 = $490

Question 23 of 29 Primary 2 Math (Term 1) 2 pts

Mrs Tan bought a handbag for $380.
She had $245 left.
How much did she have at first?

B) She had $ at first.



Question 24 of 29 Primary 2 Math (Term 1) 2 pts

Ali bought 8 boxes of curry puffs.
There were 3 curry puffs in each box.

A) How many curry puffs did he buy altogether?

A) 8+3=11
B) 8-3=5
C) 8x3=24
D) 3+3+3=9

Question 25 of 29 Primary 2 Math (Term 1) 2 pts

Ali bought 8 boxes of curry puffs.
There were 3 curry puffs in each box.
How many curry puffs did he buy altogether?

B) He bought curry puffs altogether.

Question 26 of 29 Primary 2 Math (Term 1) 1.5 pts

A librarian has 70 new books to put on the shelves.
There are 7 shelves.
She puts an equal number of books on each shelf.

A) How many books are on each shelf?

A) 70+7=77
B) 70-7=63
C) 70x7=490
D) 70+7=10

Question 27 of 29 Primary 2 Math (Term 1) 1.5 pts

A librarian has 70 new books to put on the shelves.
There are 7 shelves.

She puts an equal number of books on each shelf.
How many books are on each shelf?

B) There are books on each shelf.



Question 28 of 29

Putri bought an equal number of flowers each day.

After 4 days, she had 28 flowers.

A) How many flowers did she buy each day?

A) 28+4=7

B) 28x4=112
C) 28+4=32
D) 28-4=24

Question 29 of 29

Putri bought an equal number of flowers each day.

After 4 days, she had 28 flowers.
How many flowers did she buy each day?

B) Putri bought flowers each day.
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1.5 pts



